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— 52422 46,0003 *1.5%24 1,656
—XU224Y 46,0008 /8%1.5x15A| 2tx12& 1,553
PN 46,000& =10 460
— @E FItHI 200,000& 23] 400
—B2ga 2,000
201 et A | 284,381 277,877 6,504
01 AFR2t2l Yl 4,000 4,000 0
O3A L=& Ty 2 80,000& *10JH 800
OF3A L2328 It 2,000& x1,0000H 2,000
OLAR2 =44 1,200
02 35249t 280,381 273,877 6,504
Ox=F& =8HA 22/d| 14,500
—HEHA 234l 13,000
—HMEHA BEE= 1,500
OstseldYd =32 243,881
—HILB(MOED| ZE) 160,000
— Aol ER2 2,500,000& x12& 30,000
— g% REF2Y 1,375& 20,0004 27,500
— HIIGHHBA =2 1,100,000& x12& 13,200
— 22IHOIH &8 =& 506,000& x12& 6,072
— BotAH 8% 2 280,000& x12& 3,360
— Y22 20,800& *3H A+ 12& 749
— AUONEAH =422 250,000& x12& 3,000
OstseldY A2 &H | 22,000
—=g& B2 M2 5,000
— Y& BT QAN 7,000
—&85eldY =X A 1,000,000& 23] 2,000
— S&r&Hl #=2lHl 1,000,000& x4 3] 4,000
— XY &EH| =2l 1,000,000& 43| 4,000
206 T2 HI 8,000 8,000 0
01 X bl 8,000 8,000 0
=HE FEHAUAUS 8,000
401 Al HI L 2T 20,000 20,000 0
01 Al &I 20,000 20,000 0
Ogts=eldY S22 20,000
405 XtabF S| 110,000 1,300 108,700
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o
B 2
2

o9 ZOHS 243 (29 a8)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
01 AL 2B F SHI 110,000 1,300 108,700
Ox=g9& HEta 2 110,000
2= M=s03 OHE, &I 644,140 537,840 106,300
201 LEt2 Y| 3,040 3,040 0
01 AR 22| I 3,040 3,040 0
OMES#A =& = &b 7,000& x4 *30 840
OHFMNEES 7Y 100,000& = 12& 1,200
ONMSEA E2H| 1,000
202 (4] 3,000 3,000 0
01 2L Y] 3,000 3,000 0
OALZHEUHS gRFA 3,000
203 ¥R =Xt 3,000 3,000 0
03 Al Z=XIH L= XY 3,000 3,000 0
OLAEM=EUI HAIF=A 3,000
307 QI2t0| M 635,100 528,800 106,300
02 DIZtBAAMEE X 46,000 107,000 A61,000
ON=sg4ds 2208 29X 46,000
03 QAN EESEHE=X 67,000 0 67,000
OM=3z&dd XN 67,000
— MESE o1AHH| 24,000
— M =3l 2HAF 2124 | 18,000
—d=3 24bl 25,000
04 QIZHSHAFAIE 2 X 522,100 421,800 100,300
OLR&EAHOEZEUNHS (&%) XN 3,000
O=Ml 85 ==U3 K& 10,000
Od=EdH0tetE tHal &K 5,000
OzM=sUz &EIXA 192,000
OZeIMEUa &HILXSH 9,000
O=IJtl 8= HHEEUs XA 12,000
OZ= H=ls s8N 24,000
Ogsd & =203 XN 5,000
O=Jbl BtstHal XI& 5,000
O&d=WH2c0lY U3l XA 10,000
O&==z SttiH3 X& 4,300
OAHOIEEUE E8XE 2,400,000 *x75 ™ 16,800
Os2adA AU HE XA 3,000
OsdHogY M=Ua Al
9,000,000& x7H =™ 63,000
OzZoloY MsU3 S#HAHHR 116,000
— &2 H=F3 25,000




2H: 2AMSDRALA
dM: ZoHsE 84
el ROIHS 43 EEREED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
—SHH=zE 13,000,000& *7H & & 91,000
OZ+=ZHEMSUHSE Nz 10,000
Os=Sdl HLUA tHal K& 10,000
Odet2E==is XA 7,000
Ot EALY 32573 17,000
MENE WaARY 243,854 220,854 23,000
J| 101,942
< 7,918
e 133,994
307 21201 A 243,854 220,854 23,000
J| 101,942
< 7,918
e 133,994
02 YAFAAFEE 243,854 220,854 23,000
OMex =KX b Xl A 75,264
J| 36,432
s 38,832
onza Msgs X 128,640
J| 60,720
s 67,920
OdaNsns 299 20,000
[ 3,420
s 16,580
Osad =72na XA 8,400
< 2,470
[ia 5,930
OZ&HEXNETL 24 11,550
J| 4,790
< 2,028
s 4,732
H= B2 AlEA 25,200 21,000 4,200
p 17,640
< 3,780
s 3,780
301 et A3z 25,200 21,000 4,200
J| 17,640
< 3,780
s 3,780
01 MI2ZHE 6= 25,200 21,000 4,200
OAEZ=0IEE KA 25,200
J| 17,640
< 3,780
[ia 3,780
Mg Mo =350 20 X 41,000 26,500 14,500
< 8,000
s 33,000
307 glz2tol & 41,000 26,500 14,500




2AM: A2 ALY A
¥ Z2oNE 24
ool OIS B3 EEREED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
= 8,000
= 33,000
02 DI2HEMAIEE X 41,000 26,500 14,500
OMelsg sz022l1 XE 41,000
< 8,000
= 33,000
ZHA=0XMSHAEH 2 127,438 121,247 6,191
101 2124 1| 43,568 22,423 21,145
04 JI2ZtHZ2E2XNEE 43,568 22,423 21,145
OFAZUN MY MEHEXNEZX 2 H 16,205
A== 45,7003 » 19 251 11,471
—S2=25< 45,7003 »1H x52L 2,377
— AX G 45,700 x1E x10L 457
— @ E FItHI 200,000& *23] 400
— B8 1,500
OMaezsa &Cl2el 45,8003 *5H x5 x4 3| 4,580
OSUMSHE BALA ALY
350,000& x12& 4,200
O33SHESAIE 22| 22 18,583
—-JlE2= 51,7003 » 19 251 12,977
—HF=5dsE 51,7003 1 =52 2,689
— A X 51,7003 18 10 517
— @& F | 200,000& *23] 400
— 28z 2,000
201 LEt2 Y| 75,870 75,824 46
01 AR 22| I 11,750 11,750 0
O=0M=4dH LAH| 50,000& x 115 5,750
OFAH=UNFHNYH 29 6,000
—gEAE 2HEE 7Y 200,000& 12& 2,400
—HAEEFY 200,000& x12& 2,400
—ANRES 2] 100,000& *12& 1,200
02 352494l 64,120 64,074 46
OFAHA=UNRHNYH 29 64,120
— &I 22 (A0FAIIZE) 3,000,000 *x12€ 36,000
— Aol ER2 500,000& x12& 6,000
— HI|HEAA =2 300,000& ~12& 3,600
—OtMEH 89 2 150,000& = 12& 1,800
— Y22 30,000& *200 A %12 720
- &2 50,000& x12& 600
— AYAEEE =242 (3MA)
550,000& *12& 6,600
—dEZH (&2 ) 2,000




EXN: SHSHZTAIE A
Hu: ROMS |4
ool RUHS 2o (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
— &8 £0| 22| 200,000 *3H 2~ %33 1,800
— J|IHI&d] &4l 5,000
206 M = Hl 3,000 3,000 0
01 X2 H| 3,000 3,000 0
Obdlg & #2285 H ¢ 3,000
—Hz37¢ 15,0002 *100 & 1,500
—MNZ2ESH 7Y 15,000 100 1,500
401 Al HI L £ 0HHI 5,000 5,000 0
01 Al& H| 5,000 5,000 0
O20H=4dH KA 5,000
=202 M= A 65,000 60,000 5,000
< 10,000
= 55,000
307 212t0| & 65,000 60,000 5,000
= 10,000
= 55,000
04 SIZ2ISHAAISH E X 65,000 60,000 5,000
O=Jigh &= HOIE=SU3l M= 50,000
< 5,000
= 45,000
O=Jiol &= 03 HAE 15,000
= 5,000
= 10,000
e NEEEHE &9 12,400 22,360 A9,960
201 et 12,400 22,360 A9,960
01 AP 2t 2] H| 1,000 1,000 0
OFAESE ¢ SEXNFY 100, 000& 103 1,000
02 =224 H| 11,400 21,360 AN 9,960
OX NEEHHE 2¢Y 11,400
— LhEbH| (LPG) 1,830& *2,000Kg 3,660
— &I Ra 300,000 x12& 3,600
— A EER S 200,000 x12& 2,400
— MR 2 25,000& x12& 300
— HOotAH 849 =82 120,000& x12& 1,440
s ZE2EE 29 42,140 43,770 A 1,630
101 e1214| 4,580 4,170 410
04 JIZtHIZ22XNSEES 4,580 4,170 410
Osd2sd &Ci&el 45,8003 x5H x5 x4 3| 4,580
201 Yet2 | 29,560 31,600 £2,040
01 AP 22| H| 1,200 1,200 0
OFAEE ¢ S&EIFY 100,000& ~12& 1,200
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PSS ; e =4
o9 ZOHS 243 (29 a8)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
02 3294l 28,360 30,400 N 2,040
O342sd & S3HsAd 22| 28,360
— M2 600,000& x12& 7,200
— ol ER23 500,000& =12& 6,000
—MIIHHBA =22 200,000& x12& 2,400
—dZHl (&CAI) 2,000
— AGOLM2AAN CHSH =22 (400 A)
480,000 »12& 5,760
— A& &dl X4l 1,000,000& 53] 5,000
202 (4] 2,000 2,000 0
01 2L Y| 2,000 2,000 0
OMSAEEZE Yl 2,000
206 M= Hl 6,000 6,000 0
01 X2 Hl 6,000 6,000 0
Oblg ¥ X225 H =+ 6,000
—HZ7 15,000& *200 &L 3,000
—MN2ESH Y 15,000& x2004H 3,000
4 SEEIE 29 65,763 64,414 1,349
101 @121l 23,163 21,814 1,349
04 JI2ZtH 22 XNEE % 23,163 21,814 1,349
OFEZINE &Cl&el 45,8003 *5H x5 x4 3| 4,580
O3SHESAIE 22| 22 18,583
=3 51,7003 » 19 251 12,977
-2 51,7003 1 =52 2,689
— 9 &E =4l 200,000& 23] 400
— X< 51,700& x10 517
— 28z 2,000
201 LEt2 Y| 38,400 38,400 0
01 AR 22| bl 1,200 1,200 0
Ost&EX & HdAa8E 7Y 100,000& *12& 1,200
02 3524l 37,200 37,200 0
o&IIea 1,500,000& x12& 18,000
O&dtE22 700,000& x12& 8,400
Q&I BAL HEH=+5 500,000& x12& 6,000
OAMSUOLEAA & =2 250,000& x12& 3,000
oBogd (Il =2 150,000& = 12& 1,800
206 M= Hl 4,200 4,200 0
01 X2t 4,200 4,200 0
Ootlg & HM=Hd #¢& 4,200
—HZ7 15,000 *140 L 2,100




DA RS DRAIY A
HM: 2OHS sS4
ool ROMS BAF (EERED
s SAE]
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
| | —MEH ¢ 15,0002 * 140 2,100
HEANL &= 1,135,330 82,330 1,053,000
MSAE SR2e2 432,330 82,330 350,000
201 YUBH2 Y] 1,330 1,330 0
01 AL 22/ H] 1,330 1,330 0
OALRRHME 2 130
—E=2=A 53,0002 * 12 53
—AEEA 77,0002 * 1 77
osixz P 1,200
202 01t 1,000 1,000 0
01 240t 1,000 1,000 0
dSH MIAL S22 1,000
401 Al EHI L 2 THH 430,000 80,000 350,000
01 AlZHI 430,000 80,000 350,000
AE MSAE 22l X2 70,000
OFAMSZA NESESZA 280,000
OFHMNS2A N2 L =XIHEE 80,000
HE2Y ZHAY 703,000 703,000
401 Al EHI L 2T 703,000 703,000
01 AlZHI 703,000 703,000
OFAH HS2Y ZHAY 703,000
2ETE 3,507,307 4,640,954 A1,133,647
z 1,633,000
Il 11,500
[ 105,800
= 1,757,007
DTN 150,000 50,983 99,017
[ 100,000
2 50,000
TR 150,000 0 150,000
[ 100,000
2 50,000
207 S IH Y] 150,000 0 150,000
[ 100,000
2 50,000
01 iy 150,000 0 150,000
OZZESMNY HE+y H22A 150,000
[ 100,000
2 50,000
nENese 194,538 150,343 44,195
J| 11,500
= 5,800
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FA: 2SHS2ZAG A
Ny BEIE
el HEAEEE (el &™)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O2ZOHH X & 5,000
J| 2,500
i 2,500
401 AIEHIZ 28I 10,000 0 10,000
J| 5,000
[ia 5,000
01 A& Bl 10,000 0 10,000
OZHHEXNEAEAXLINE S 10,000
J| 5,000
i 5,000
HFME X =0 A AHEIEXS 5,000 10,000 A5,000
301 L2 A= 5,000 10,000 A5,000
1MIIEBESS 5,000 10,000 A5,000
OZZAURI R=0HAA QHEIEXS
5,000& *1,000< 5,000
22 ZSH 0K 22 3,708 0 3,708
201 £B-2dH| 3,708 0 3,708
02 =24l 3,708 0 3,708
O=2322& SHOlIX |SX2el 309,000 128 3,708
Nelsrtd 22X fe 3,162,769 4,439,628 AN 1,276,859
& 1,633,000
s 1,529,769
NelatA 2h2ofe Bk 43,769 44,298 A 529
201 LB-2%H| 13,000 13,000 0
03 A2 Z Hl 13,000 13,000 0
OHM1al Xelatd XM dstal &t 13,000
308 XtXIEHHSOIA 30,769 31,298 A 529
07 IXNSHH AR S = 30,769 31,298 A 529
OXeldA2Z WL 23 30,769
NelatA 22030l 22 200,000 200,000 0
& 120,000
[ia 80,000
308 XtXIEHHSOIA 200,000 200,000 0
& 120,000
[ia 80,000
07 IXNHMAR2 S = 200,000 200,000 0
OXlelatd 2Z0t3tdiol 29 200,000
& 120,000
i 80,000
Aelatd sE23s 2208 Mg =4 30,000 100,000 A70,000
& 18,000
s 12,000
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EXN: SHSHZTAIE A
Yy BYNE
EHe: XlelAtd 22X e (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
308 XHXIGH SO0l & 30,000 100,000 70,000
2 18,000
= 12,000
07 AXSHHZ2HESSZS 30,000 100,000 A 70,000
OXelatd sZ235 2BOIS AEEH 30,000
= 18,000
= 12,000
Xelard AN 22 AEINe 35,000 35,000 0
2 21,000
= 14,000
308 MXISHMSOIA 35,000 35,000 0
2 21,000
= 14,000
07 X SHH2AESZ 35,000 35,000 0]
OXela HH 2ZASRY 35,000
2 21,000
= 14,000
Xelad 78 701 |4 74,000 74,000 0
2 46,000
= 28,000
308 XX G SO0l A 74,000 74,000 0
2 46,000
= 28,000
07 NXSHH2ESSZ2 74,000 74,000 0
OX2l & 7270 |4 74,000
2 46,000
= 28,000
=H Al d22X g 2,400,000 3,010,000 A 610,000
2 1,200,000
= 1,200,000
401 Al HI L 2 THHI 2,400,000 3,010,000 A610,000
2 1,200,000
= 1,200,000
01 Al& H| 2,363,760 2,883,196 A 519,436
OU=HM HH22X JHe 2,363,760
2 1,181,880
= 1,181,880
02 2teld| 36,240 120,894 N 84,654
OUZN AIH2ZX He 2l 36,240
2 18,120
= 18,120
EI2ENHeS & A8 XHAY 380,000 520,000 A 140,000
2 228,000
= 152,000
308 XAHXIGHH SO0l & 380,000 520,000 A 140,000
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